NCERT Solutions for Class 10 Sanskrit Shemushi
Chapter 10

URal 2.
HENTSTEATST USSATSITH I HepaHToaT fosad-

(oh) HIALALISE HIEel JodTd FAITd THTd?
3de:
IS g INA-ATEHATUITH JoedTd AISTH ATHI|
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(@) doreenfar sfadotfer ereremdifel ATdea?

3de:
SgaffdrpTfer srasiTfal eeTemaifor oiasd |

USal 3.
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(&) Tdreeft sfaTagaceT JedTaaa gfedr!
3d¢:
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9T 6.
dfodl/dfoafdTedd I Hd-
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() fdhod = +d
3dd:
fohod = fohd + T

€S)) =olJ¢d +
3de:
olYlgot] = O'I‘Jldd1\+E:[)

(1) faUesTod = +
3de:
faussiod = faussrdl + @

(&N = T + o
3de:
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() HulolIldoq = +
3dd:
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@) —dA+dI:
3d¢:
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(3 faafafRfTgaAT AT -

(b) felerded = +
3dd:
feleraeq = felera: +

&) = faemie: + 3
3dd:
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() dedeNsd = + 3(cd
3d¢:
dgdelsed = AgeAR: + 3o

@& fafaasad = fafaa: +
3dd:
fafazNsaa = fafaa: + s/ ad

) — 8[hdY: + ATTd

3dc:
BT = T + WTId
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(@) dTdHcI b e Td = +
3dd:
dldHoldh oY Td = dlHAoI b Y + T

Yol 7.

(30 ‘&’ &t UeTfol gdTfol & &dddl fasiaucTfal, dat: I pod-
H -

Hd ool — Ufd eledifar:
egedsiaaly — Ffaeuid
foredeodifar: — faueold
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efutald — faeired

3d¢:

D -U

g1 — faUssTdl
egedadaly — ofdfolfafdarasiy
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&utotd — FfTeulia

(31T ‘o’ & UeTfol gdTfel &I’ Tddal ddAToITfbucTiol ad): AV Hd-
B -
qfp s — oTeCT:
faeftort: — shlerghia
3fITged: — dAle
facTd - aTp s

Ip fUdrd - Uhedod:
3d¢:

D -U

T P B — TP B
faeftort: - sreeT:
3f3rged: - Uhcdod:
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TSR U — PerTThId

U] 8.
(31) 3CTEUTHTH T UhTd-TcaTaT: fa eIl G &d-
g — gfeafddadt — ufd + gd + haq + 19 (&)

(h) gddTel - +
3dvd:
gddrel — & + hdd

(&) €dlal - +
3d¢:
€dlol — €dl + eld
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3d¢:
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3d¢:
FMEREEIIEES

(T eqedY T dY #iaely =
I

eed ey

() UTchat o dfedte] gt =

3dd:
T

(%) A& d dd eIt dfddiel =

3d¢d:
HEIISS |
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